Math 11 Essentials Surface Area Practice
1. Find the surface area of the following rectangular prisms.

a)




b)   



c)  
                                                               4m

      6cm                                                                                                               3ft


  8cm                                                               13m                                         5ft


                     7cm                                                                                                                         18ft
                                                                                  
                                                                                     5m




d)                      22’’
                                         e) 
          18’’                                                                                                                             52m
                                                                                4.8m    
                                                                                   
                                                                   6m
   28’’                                                                                    
                                                                                                           





2. a) A rectangular prism shaped toy box has the dimensions 2m x 1.5m x 1.75m. The toy box has to be painted. How much paint is required to paint this toy box?  



b) If paint comes in containers which cover 5 m2, how many containers of paint will be needed?



c) If paint costs $21.50/ 5m2, how much will it cost to paint the toy box? 


d) How would the amount of paint and cost change, if you had to paint the inside of the box as well?




3. Colleen is wrapping a microwave for a wedding gift. The box measures 70cm by 30cm by 50cm. She has a sheet of paper measuring 100 00cm2. Is this a big enough sheet to wrap the present? If not, how much more would she need? Show work to support your answer. 



